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   !î¦þy† éôé „þ 
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2Ð öë ö„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S1 × 20V 
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   !î¦þy† éôé … 

3Ð öë ö„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yç ƒ S1 × 5V 
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English Version : 

   (Use a separate answer book for each group) 

   Group - A 

1. Answer any one question of the following : (1 × 5) 

 a) Discuss the effect of Black Death on European society and economy. 

 b) Write a short note on 'Humanism'. 

2. Answer any one question of the following : (1 × 20) 

 a) Write an essay on the Transition Debate. 

 b) Analyse the role of Henry VII as a 'new monarch'. 

   Group - B 

3. Answer any one question of the following : (1 × 5) 

 a) What was the Tribute System? 

 b) Do you think that the internal contradictions were responsible for the ultimate failure of the 

Taiping Rebellion? 

4. Answer any one question of the following : (1 × 20) 

 a) Is it proper to call pre-modern China a 'Gentry State'? (20) 

 b) How did the Canton system develop? What were the reasons for its collapse? (10  + 10) 
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